——
N = 0 At 2 4 A
20168 = 20l & L BEGH 2ZH AR
T 2EARZE
. Clean AP H
DA AIRSE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
145,337 306,482 A 161,145
HHEP2H 97,903 267,010 A 169,107
ZAI2d 47,208 52,408 A5,200
KM (RE - SAHD| 22 A 34,488 37,488 A 3,000
01 LBt A H| 16,588 16,588 0
01 AP 2t 2] H| 16,588 16,588 0
OZAILL2HEBH(EI|, 4= Al) 6,400
OAHYZR2FAM 6,000& * 205 * 203 2,400
O&JIgRED 5,0008 = 1008 * 43| 2,000
SANYERED 5,000& * 1008 = 43| 2,000
OXMZAI SR8 S|
7,0008 *» 8 x 8 x 6 2,688
OLMSYR MRS B4 M2DS
00,000& x 25Y * 13| 7,500
202 04| 6,400 6,400 0
01 2L HI 6,400 6,400 0
OXNMZAIE R =& |
20,000& = 8% = 40¥ 6,400
203 R F & 7,000 7,000 0
03 AIZH =X 2 =X H| 7,000 7,000 0
O2dANGRF=A 4,000,000& 4,000
OXZANYERFA 3,000,000& 3,000
405 Ko SHI 4,500 7,500 A 3,000
01 XML 2 ZF S| 4,500 7,500 A 3,000
oOLES ¢ 1,500,000& = 3CH 4,500
oI ot el 2 At 4,500 4,900 A 400
01 LBt A2 4,500 4,500 0
11 JIEtE2 A= 4,500 4,500 0
OYBIAIDIAA BSHT
100,000 * 5% * 63| 3,000
OX A QI 2AFZE 2ZHALSE
100,000 » 3% * 52 1,500
ANMASSE 7,800 9,600 A 1,800
201 Bt 7,800 9,600 A 1,800
01 AP 22| H| 7,800 9,600 A 1,800
o=28Xdx=r2 2,000& * 1,500™ = 13 3,000
OMMEE E2XE HE 4,000& * 1,2000H 4,800
SIHEEA MRUNE 420 420 0
201 et d| 420 420 0
01 A2t 2| bl 420 420 0




SN ZARR
M. Clean HY S

Sl HBAASY CEREY
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAHEEA AR2N=E 420
OZA= 350
-JI& 230,000& * 1Y = 13 230
-= 1t 120,000& = 1H = 13l 120
OZH3tE 70,000& = 13/ 70
2 A2 AL 3,900 3,640 260
2 a2 AL 3,900 3,640 260
201 ¢er24l 1,020 760 260
01 At 22l 1,020 760 260
OSIE2X 30,000& = 2& = 12& 720
CHEHRESZH 50,000& » 2@ 100
OH&EYHHEE 100,000 * 1& 100
OHAYHHMHEE 100,000& » 1& 100
202 04l 2,880 2,880 0
01 = LH 4 HI 2,880 2,880 0
O L a2 At I 20,0003 = 3% = 48 2,880
S L =g 46,795 210,962 A 164,167
3N 25 46,795 210,962 A 164,167
201 £B-2d| 27,783 47,980 A20,197
01 At 22l 24,980 47,980 A 23,000
ORIFE X2 AN ¥ Y 222 HMA 5,000
OdlnA 500& = 2,000% 1,000
Oos:es 4,000,000& 4,000
O&dE NIIEHdSSAAE 2 12,200,000 12,200
OURIERR HHEE FHIt 4,000,000& 4,000
OXMNYRFZX S EHI
7,000& * 6Y = 10 » 9F 3,780
02 =224l 2,803 0 2,803
OARIBHEAIAE SKZ >
112,088,000& = 10% * 3&€ / 12& 2,803
202 O4dl 3,840 3,840 0
01 = LH 4 Hi 3,840 3,840 0
OXZMYRFE O] 20,000 = 4% = 48 3,840
301 et a3z 4,000 4,000 0
MIIEE4d3 4,000 4,000 0
ORXeldd BE&S3 2,000,000& 2,000
ORAIAMD B&3 2,000,000& 2,000
403 MtXISHHE A0l & 11,172 10,392 780
02 S 2SOHHEHAH 2 X HE Ar B 11,172 10,392 780
OXUM-—e(SE MAZLIHE)ANAE 2| 11,172




2A: ZAB
g Clean &E 7S
Sl BHII LY CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsXE=Hl 1,890,000& 1,890
O=2g X &l 9,282,000 9,282
HY2FZH (2 ALZ) 47,434 39,472 7,962
Jl23&dl 43,796 39,472 4,324
Jl2ztl 43,796 39,472 4,324
201 Let2d] 19,076 16,912 2,164
01 At 22l 19,076 16,912 2,164
OJlzge=d s34 (01E24l)
9,500,000& 9,500
os2d (JI1EZHl) 9,576,000 9,576
202 Odl 20,520 18,360 2,160
01 =S LHA YI 20,520 18,360 2,160
OJIEZ 20,520,000& 20,520
203 R =& 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
O©J| & (302! Olct) 350,000& = 12& 4,200
el 2 3,638 0 3,638
oI 244l 3,638 0 3,638
101 14l 3,638 0 3,638
02 JIEtE B = 3,638 0 3,638
OAHQ2RSH(LBHADIIH)
10, 105& = 1% = 30AI2t = 128 3,638




